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# B TEETHIE |6cEETHE| B H E &
I BXIHRIO
1. BEFEIRA
@ EXBMEERIRA

ERBMEFBINA 2,800 2,800 0
@FXIA 710,630 759,360 | A 48730
SERFHHURA 334,240 362,820 | A 28580
FEFBHIXA 23,180 24,840 A 1,660
ERFEEFEEHIA 337,010 351,220 | A 14210
RERE - R A 14,200 16,480 A 2,280
72+0—7 v THHERMIA 2,000 4,000 A 2,000
OF R N 1,620 1,620 0
GEFEREIIRIRA 0 0 0
SR BIRA 500 500 0
AL A 1,120 1,120 0
EEFEEUNAGH 715,050 763,780 | A 48730

2. BEEHXH
@ HBREEXEXH 349,850 341,120 8,730
W 3=F: 1 b 6,000 6,000 0
RHFAZH 149,800 135100 | 14,700
IBREHE T 2,700 1,500 1,200
EREEEXH 24,000 22,300 1,700
E&XH 15,500 15,500 0
REXBEXH 13,850 13,620 230
BEEREXH 4,000 4,000 0
HEEREIH 1,000 1,000 0
HESEXH 1,100 1,100 0
HRIEREX H 1,000 2,500 A 1,500
SEKHEXH 2,400 3,400 A 1,000
EFmEEHXH 29,900 29,900 0
[LEREXH 600 1,200 A 600
PFRHREERH 1,000 1,000 0
HERIGEEHXEH 32,800 33,900 A 1,100
SEBEXH 800 800 0
B AT LEREXH 12,800 15,500 A 2,700
FHREXH 30,900 29,600 1,300
BRET)—REXH 4,400 5400 | A 1,000
HEREEEREXH 900 1,600 A 700
REFRFRREXH 600 600 0
AHRARXE 13,200 14,600 A 1,400
M H 600 1,000 A 400




(B FM)
7 | TEEFHIE |6EETHRE| B R E =
@ XEETEXEXH 15,900 17,900 A 2,000
B WS H 700 700 0
HHFEXH 8,400 9,300 A 900
IBRBSFE TS 100 100 0
BEHELEXH 1,300 1,500 A 200
EEPFHXH 0 100 A 100
REZBEXH 300 300 0
BEEREXH 100 100 0
HEREXH 100 100 0
FRIEAEXH 100 100 0
FEUKHEZH 100 200 A 100
EFmMERHXEH 1,200 1,200 0
LEREXH 100 300 A 200
S EEHAXH 0 200 A 200
AT LEREXH 1,200 1,200 0
FREXH 1,100 1,100 0
HERRST)—REXH 400 500 A 100
ARARXH 400 600 A 200
M H 300 300 0
Q@ EFNRBESEEXERH 326,800 376,300 | A 49,500
Z B H 6,000 6,000 0
HBHFHXH 127,800 164,200 | A 36,400
IRESAA T X H 2,200 1,800 400
EHELEXH 20,300 27,300 A 7,000
BEEXH 1,000 1,000 0
EEMF AT 60,400 61,400 A 1,000
WREXBEXH 25,900 24,900 1,000
BEEMRE S H 3,000 3,200 A 200
HaREREXH 500 500 0
HESEXH 11,000 11,800 A 800
RIS ARETH 1,300 1,300 0
SEOKFEZH 2,100 3,000 A 900
EFmMERHXEH 24,900 24,900 0
LR E ST 800 1,000 A 200
FEREEXH 900 900 0
RIFEEHIH 24,800 27,800 A 3,000
SBEXH 2,400 2,400 0
i AT LEREXH 5,500 6,700 A 1,200
FREXH 900 800 100
HEREF—REXH 4,100 4,400 A 300
M H 1,000 1,000 0
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8 B TEEFEHE | cEETHEE| B R i &

@ RERE-FHRIRERAXH 20,100 20,800 A 700
1% B EREN ST H 800 800 0
HBHRFHZH 8,100 8,200 A 100
IREEFG AT 200 200 0
EHEEEXH 1,200 1,300 A 100
E AN ES B ] 2,600 2,600 0
& EE T H 1,900 1,900 0
BEEREZH 200 200 0
HEMREXH 200 200 0
ERISARE X H 200 200 0
FEKHEZH 200 200 0
EHREBHXH 1,400 1,400 0
LHEXH 400 600 A 200
SEEEHXH 1,400 1,600 A 200
B AT LEREXRE 900 1,000 A 100
BERET)—REXH 200 200 0
X 200 200 0
® 7+A—7yIHHEBEEXH 1,220 2,670 A 1,450
% B BN 20 80 A 60
KHFHXH 600 1,200 A 600
IREEFG T3 20 20 0
EREEEXH 50 100 A 50
EERF X 10 20 A 10
RERBEZH 20 50 A 30
BEEREXH 20 50 A 30
HEMREXH 30 200 A 170
ENRISAE 20 50 A 30
FEKHEZH 20 50 A 30
ERMEENXH 50 100 A 50
[LERE X H 20 50 A 30
LKEEEHXH 50 100 A 50
AT LEREXH 20 50 A 30
REEEXMH 50 100 A 50
ERRT)—REXH 20 50 A 30
X 200 400 A 200
® EBEXH 39,500 47,200 A 17,700
1% B B =2 700 700 0
HHFHXH 18,300 25,300 A 7,000




(Bfr  FA)
o B TEEFEE | cEETHE | B B H &

IREHS 4 X H 500 300 200
EHEEEXH 3,900 4,200 A 300
KBEXH 1,200 1,200 0
REZEEXH 1,000 1,000 0
BEEREXH 300 300 0
EFMERFEXH 500 500 0
HER-HRIRAEXH 1,000 1,000 0
FEKHEXH 200 300 A 100
EBmMEBHXEH 3,300 3,300 0
ERMHFEEEXN 1,200 1,200 0
HegXH 1,600 1,600 0
FAERREXH 300 300 0
FEREEXH 200 200 0
AT LEREXH 100 200 A 100
HEREF)—REXH 200 300 A 100
AHRATREIH 1,500 1,800 A 300
MXH 3,500 3,500 0

BEEHIHE 753,370 805990 | A 52,620

BERFEBNZELE A 38,320 A 42210 3,890




(B FA)
# B TEEFRE|(6EEFRE| B H ik =
I HEFHINZDOE
1. REFEIRA
@ HEEEIARIRA 18,700 13,900 4,800
IBREEFS 51 B ERARIRA 5,700 3,900 1,800
EHNES AT LT EEREIRA 13,000 10,000 3,000
Q@ BEEEERERIXA 0 0 0
@ BERYIRA 0 0 0
& FHINAG 18,700 13,900 4,800
2. BEEHTH
O BEEENMEXH 11,200 800 10,400
REAT 5 HE ERGXH 11,200 800 10,400
EBHNERT LEIEERSXH 0 0 0
@ BEEEENSIH 13,000 0 13,000
EY-tHEERBAZH 0 0 0
YIRIITHEAXH 13,000 0 13,000
OF &5 0 0 0
BEEMIHE 24,200 800 23,400
BEEHIREESE A 5,500 13,100 | A 18,600
I BA 5 E NI D AR
1. ABEEEIRA 0 0 0
2. ABEEHXIN 0 0 0
M EEINESE 0 0 0
IV $iE&EXH 5,000 5,000 0
HHINZ =5 A 48,820 A 34110 | A 14710
ATER BN £ 58 48,820 34,110 14,710
0 0 0
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